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QUESTION 1

Refer to the exhibit. What is the cause of the status of the interface subscription? 

A. The router cannot establish a gRPC connection with the collector. 

B. The sensor-group "Interface-Counters" does not contain a valid YANG path. 

C. The router is waiting for a collector to dial in. 

D. This is the expected state of an active subscription. 

Correct Answer: B 

 

QUESTION 2

Which Git command is needed to stage the file network-deploy.py to then commit the changes to the revision history? 

A. git init network-deploy.py 

B. git add network-deploy.py 

C. git merge network-deploy.py 

D. git commit network-deploy.py 

Correct Answer: B 

 

QUESTION 3

An engineer is deploying a Python script to manage network devices through SSH. Which library based on Paramiko is
used? 
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A. sshmiko 

B. paramiko.agent 

C. libssh2 

D. netmiko 

Correct Answer: D 

Reference: https://pynet.twb-tech.com/blog/automation/netmiko.html 

 

QUESTION 4

What is a key feature of YANG? 

A. use identification 

B. error prediction 

C. JAVA compatibility 

D. reusable types and groupings 

Correct Answer: D 

Reference: https://www.cisco.com/c/en/us/td/docs/optical/ncs1000/60x/b_Datamodels_cg_ncs1000/b_Datamodels_cg_
ncs1000_chapter_00.html 

 

QUESTION 5

Refer to the exhibit. Which XML output is a valid instantiation of the YANG model? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 
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